3.5B Notes  Derivatives of Trigonometric Functions Name

1. Find the following derivatives. u'V + V'U.
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2. Find the equation of the tangent line at the indicated point.
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3. Show that both y=cosx and y=sinx satisfy y =-y
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4. Calculate the first five derivatives of f (x)=cosx then determine the 8" and 37" derivatives of

f (x) = cos x JC(,() - oS X
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Jerk

Jerk is the derivative of acceleration. If a body’s position at time t is s(t), the body’s jerk at time t is
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6. A body is moving in simple harmonic motion with position function s= f (t) (s in meters, tin

seconds). Find the jerk at time t given s=2+3sint,_
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horizontal. Check your solutions on your graphing calculator.
/
_ 53:AJ7<
7L(><) . fosk e o3k — SEVK

YA
Cos X =

= 0O

SN z X




